Answers are given at the bottom of the page.  Make sure to show ALL work to receive ANY credit!!!


1. When sodium chloride reacts with silver nitrate, silver chloride and sodium nitrate are formed.  What mass of AgCl is produced from 75.0 g of AgNO3?


2. Given the following reaction:
2 C2H2 + 5 O2  4 CO2 + 2 H2O

How many grams of CO2 are produced when 25.0 kg of C2H2 burns completely?



3. Given the following reaction:
H2SO4 + NaOH  Na2SO4 + H2O

a. What mass of H2SO4 is required to react with 30. g of NaOH?
b. What mass of Na2SO4 is formed from the reaction in part a?
c. What mass of H2O is formed from the reaction in part a?


4. Calcium carbide (CaC2) reacts with water to form acetylene gas (C2H2) and calcium hydroxide.  How many grams of acetylene can be produced by adding water to 5.00 g of calcium carbide?
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